AN —»v,a
) th & u a) Efot P 1’ W\'w.
A (T A
i AN il o+ % - o1k + (g )+ L) ¢ W,
Xx=h Hm _W- = Umah - .'.mvt-f -"‘(’mv" = O,Sm h
h| qm, h rer = ma ( = ) __——LJ
i .‘ 1 he Eh g sit =3,5m9h

rn. _OS"‘S"
U T T T T T e e T AT b) W"" “’L -/u Nh /u"m9¥' E mgh o ﬂ\gh
c)i Fre =ma = T mg z=ma a-‘{/*ca-___,ﬁ—o‘\‘a 6,8t m/s?
‘(«19-‘[’ Yma —9‘im3—T =lma (* 0,3 - ,2m
By B BRI l Yu (9-a) = Um(9-039) = h2myg
R ATEErA 00 = [T= Ym(9-9) = l

I Ve [ E &
z")l 1 + —"\,V

= | |
(= :—-ZXL-} 3x|°+ 5»3~2"'5J
Uiy = - - A - K o /
VSRV s 25 v:-_ v,.V, = 10, v;: Vs sV S0 e >
b ol 2
) EKCM = Q_Me-tvcm
. SR MV, + ™V, +myVy i 2(i-7) ¢ 3(33-K) ¥ 5(74) ) s 0 LT
= ; 9 o T’ T
tot tot'
(2'*3*5)[ 10 10 )] ngJ
|
) Ey = '2'.' Mt.t i E“m ()
RN
E‘Knl ~ %m,v:'} 'i-m vl -t-L")j :
\
A =14 65)
Vv —(3t—221-7-") SRR 6 = =
[y )
A ORC U)E -(-?Hl?)-nk) = 2/ () s comple gves 1245 = 9,85+14,65
- - - & = XK - 0}?




